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C OOoog

0 1. 00000000000000000000000000 (m =10, m' =10)

; 1 2
ag; | 0.012214 | 22.040564
poi | 0.043950 0.956050
704 | 0.507775 | 21.591983
apq | 0.507767 6.641930
Boi | 0.000007 | 14.950052
No.i | 812.3150620 | 31.832630

]

ai g 0.000014
21 0.627748
D) 324.881417

02:00000000000000000000 100000 (m =10, m"=10)

n 1 2 3
ap; | 0.722174 | 52.433876 5.643100

P1:i 0.002327 | 0.052475 0.945199
T1,; | 0.063035 | 0.603629 6.780377
ay; | 0.061510 | 0.088809 6.755195

’

Bis | 0.001525 | 0.514820 0.025180
A1 | 29.842369 | 61.478990 | 1519.493192

)

aio 0.000014
z1 1.406102
29 9.231970

03:00000000000000000000 200000 (m=10, m' =10)

i 1 2 3 4
az; | 1.548505 0.030767 10.169093 5.379533
p2,i | 0.000256 0.004618 0.075281 0.919845
T2, | 0.006820 0.067879 0.648558 8.236546
g | 0.004459 0.067878 0.601899 8.221948
B2, | 0.002360 0.000001 0.046658 0.014597
Ao | 4.473420 | 2659.945689 | 141.351187 | 3035.357721

9 0.174793 (dgy] = Q,dgvf_) = 4)
2.0 40.634047
z1 1.262115

22 10.519641

v



04 0000000000000 0O0O00O0O0O0O0OO0O00OO00O0 (m=10, m'=10)

i 1 2
ag; | 1.179212 | 16.052924
po,; | 0.001441 0.998559
70,i | 0.097108 | 11.295186
ag; | 0.067640 | 10.116251

Bo.s | 0.029466 1.178934
Ao, | 3.886075 | 153.800569

2

aoyo 4820640
z1 0.598747
Z9 25029.914579

05 00000000000000000000D0100000 (m=10, m'=10)

i 1 2 3
ar,; | 20.482104 | 33.261825 5.055235
pri,; | 0.005968 | 0.026670 0.967362
71, | 0.082779 | 0.527125 26.291988
ar; | 0.006012 | 0.094302 26.215362
B1,: | 0.046766 | 0.432822 0.076625

A1 | 23.115501 | 40.508820 | 1734.573685

ai,0 0.000000
21 0.650934
Z9 587.454461

06 00000000000D000000DO0OODO 200000 (m=10, m' =10)

i 1 2 3 4
as ; 0.300594 3.338559 7.126382 3.381601
D2, 0.001928 0.009618 0.047733 0.940721
T9 i 0.011325 0.113206 1.127266 24.365407
o9 0.011295 0.106257 1.063416 24.348703
B2, 0.000029 0.006948 0.063849 0.016702
Az | 113.934867 | 54.389285 | 125.817312 | 4932.941438

T2 0.176606 (dy,1 = 2,dy 5 = 4)
a20 43.614807
P 0.698333

Z9 347.512582




O 700000000000000O0C0OO0O0O0ODOOOOOOO (m =10, m'=100)

i 1 2 3
ap; | 0.033710 | 5.194801 0.419331
po,i | 0.003783 | 0.016043 | 0.980174
70, | 0.010181 | 0.101760 | 6.358522

)

op; | 0.010167 | 0.012040 | 6.353472

)

Bos | 0.000014 | 0.089719 | 0.005049
Ao, | 25.364336 | 5.891976 | 528.088774

3

ap,0 16.404935
z1 0.627748
Z9 324.881417

08 000000000D000000O000O0O0D0 100000 (m=10, m'=100)

1 1 2 3
ar; | 27.061915 | 22.005015 8.117325
i | 0.002009 | 0.045848 0.952143
T1,; | 0.066760 | 0.545836 9.824205
ar,; | 0.001373 | 0.251705 9.749554

Bi,: | 0.055386 | 0.294131 0.074650
A | 27.732952 | 40.836000 | 1068.266104

a1 9.732235
=1 1.406102
2 9.231970

09 000000000D00000000D0O0O0O0 200000 (m=10, m'=100)

1 1 2 3 4

az; | 2.446491 | 20.935106 | 26.554880 7.825467
p2,; | 0.002378 | 0.015278 | 0.095512 0.886831
m,; | 0.006560 | 0.065480 | 0.642733 11.710326
ag; | 0.005744 | 0.025003 | 0.453702 11.664870
B2, | 0.000815 | 0.040476 | 0.189030 0.045455
Ao | 19.672487 | 33.867248 | 90.290613 | 2015.994752
a0 0.000000

z1 0.809156

Z9 39.315531

vi



0O10:m=10, m =100000 000000
i 1 2 3
ap,i | 18.486621 | 2.159792 1.397914
ros; | 0.005212 0.022099 0.972688
70,i | 0.016967 | 0.169544 9.511601
ap,; | 0.000554 | 0.154789 9.502979
Bo,i | 0.016413 0.014755 0.008621
Ao | 19.111006 | 24.818060 | 1542.238863
ag o 0.008448
z1 0.627748
Z9 324.881417
Oll:m=10,»=100000 100000
n 1 2 3
ar,; | 0.722174 | 52.433876 5.643100
p1,; | 0.002327 | 0.052475 0.945199
T1,: | 0.063035 0.603629 6.780377
ap; | 0.061510 0.088809 6.755195
Bii | 0.001525 0.514820 0.025180
A1 | 29.842369 | 61.478990 | 1519.493192
aio 0.000014
z1 1.406102
Z9 9.231970
O12:2m=10, »' =100000 200000
i 1 2 3 4
ag.; 0.259119 1.949434 13.219810 4.652619
D2, 0.002378 0.015278 0.095512 0.886831
T2 0.006560 0.065480 0.642733 11.710317
a2 ; 0.006550 0.064574 0.582577 11.694208
B2, 0.000010 0.000906 0.060156 0.016109
Az, | 162.900238 | 140.828935 | 141.247152 | 3382.289834
re 0.265749 (dl,l = 27d112 = 4)
as0 37.680961
z1 0.809156

Z2

39.315531

Vil




013:m=10, m=1000000000000
i 1 2 3
ap,; | 0.033710 | 5.194800 | 0.419331
po,i | 0.003783 | 0.016043 | 0.980174
70,; | 0.010181 | 0.101076 | 6.358522
ag,; | 0.010167 | 0.012041 6.353473
Bo,i | 0.000014 | 0.089720 | 0.005049
Ao,i | 25.364336 | 5.891977 | 528.088775
@00 16.404935
z1 0.627748
22 324.881417
0 14:m=10, m'=1000000 100000
i 1 2 3
ay; | 0.766233 | 15.058939 5.414360
p1 | 0.002009 | 0.045848 0.952143
T1,; | 0.056760 | 0.545836 9.824205
ap; | 0.054982 | 0.352776 9.790852
Bis | 0.001778 | 0.193060 0.033353
A1 | 24.466003 | 42.575892 | 1594.812406
™ 0.625861 (d171 == 1,d112 == 2)
a0 37.559635
z1 1.406102
Z9 9.231970

0O 15:m=10, » =1000000 200000

1 1 2 3 4
az; | 4.832875 | 11.262635 | 8.110424 14.814812
p2; | 0.002378 0.015278 0.095512 0.886831
T2 | 0.006560 0.065480 0.642733 11.710317
az,; | 0.004221 0.044589 0.618687 11.549019
B2, | 0.002339 0.020891 0.024045 0.161297
Az | 13.653027 | 35.301100 | 216.792126 | 1075.568093
1] 0.397819 (d171 = Q,d]vf_) = 4)
a2.0 18.741197

z1 0.809156

39.315531

viil




0 16: m=100, m'=100000 000000

; 1 2
ao; | 0.001762 | 22.051015
poi | 0.006325 | 0.993675
700 | 0.276118 | 2.611905
ag; | 0.276118 | 0.824546
Boi | 0.000001 | 1.787359
No.i | 810.002373 | 32.223614
@00 18.741197

o 1.374734

o 21.951103

0O 17m=100, » =100000 100000

; 1 2
1. | 3.155486 | 51.566854
pi,i | 0.050887 | 0.949113
7. | 0.358716 | 3.319242
arq | 0.321415 | 1.247040
By | 0.037301 | 2.072203
A | 30.345404 | 82.599486
1.0 4.0763256

P 1.9347883

% 2.196324

018 m=100, m' =100000 200000

? 1 2 3 4
az,; | 0.292944 0.336781 3.741574 20.005180
p2; | 0.001143 0.012854 0.130974 0.855029
9, | 0.002852 0.028370 0.269296 2.414579
ag; | 0.002804 0.028313 0.262848 2.180342
Ba2,; | 0.000048 0.000057 0.006448 0.234237
Az | 17.298045 | 166.621601 | 156.253830 | 206.218889
1,i 0831782(d1’1 = 2,d1’2 = 4)
a0 33.385465

z1 1.055818

22 4.579523

X




019 m=100, » =1000000 000000

i 1 2 3

ag,; | 0.584981 | 9.334001 12.133795
Po,; | 0.000078 | 0.001823 0.998099

m,; | 0.011144 | 0.111065 2.614127

ap,; | 0.000002 | 0.000310 2.610163

Bos | 0.011142 | 0.110756 0.003964

Ao | 9.335879 | 12.167709 | 385.751049
ap,0 0.584982

1 1.374734

29 21.951103

0 20: m = 100, m/ =

wooooo1l1ooooon

1 1 2 3
ay; | 8.600293 | 3.832450 | 21.408208
p1,: | 0.000525 | 0.035260 | 0.964215
T1,; | 0.031146 | 0.291960 | 3.142858
aq,; | 0.000369 | 0.234119 | 2.451693
Bis | 0.030778 | 0.057841 0.691165
A1, | 8.703289 | 19.344829 | 97.347138
1 0465309(({171 = 1,d172 = 2)
a1,0 24.958216
21 1.934788
29 2.196324

0 21: m=100, m/ =1000000 200000

1 1 2 3 4
as; 0.011275 6.425785 | 10.520164 | 22.308597
D2.i 0.001143 0.012854 | 0.130974 0.855029
T2,i 0.002852 0.028370 0.269296 2.414579
Q2 0.002852 0.016330 0.225551 2.130019
B2, 0.000001 0.012040 0.043745 0.284560
Az | 441.815367 | 15.140918 | 64.762270 | 189.295290
ro 04334750(611‘1 = 2,d1 2 = 4)
o 18.496123

z] 1.055818

4.579523




